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CHEMISTRY

BOOKS - MS CHOUHAN

CARBOXYLIC ACID AND THEIR DERIVATIVES

1. Identify C in the following sequence of reactions

_aCO.H
20U, A Mg BB L o(CgHpN)

|r.lH'|l' | I_-1


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TV7DxP6ZT6mJ

E  CM
~ .},
CH,

C.

Answer: B

° Watch Video Solution

2. Saponification ( basic hydrolysis ) of CsHs COCHs3 will yield : [ O=
|
0]

mass- 18 isotope of oxygen ]

O
'

A.C¢Hs; — C — O~ + HOCHj;
O

||
B.C¢H; —C — O + HOCH;

C.CeH;CO™ + HO™
|
(0]

D.CeHsCO~ + HOCH;

[
o}


https://dl.doubtnut.com/l/_TV7DxP6ZT6mJ
https://dl.doubtnut.com/l/_RvQeaNY08oPV

Answer: B

o Watch Video Solution

I
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of the reaction is:

Product (X)


https://dl.doubtnut.com/l/_RvQeaNY08oPV
https://dl.doubtnut.com/l/_j4VxYmvJlq0N

Answer: A

° Watch Video Solution

4. Which of the following is the correct order of decarboxylation of B-keto

carboxylate anion ?

0 0 0 0
I
R—C/l\?L/'D HMU_ RMG‘- R/Riﬂ
F cl NO, CN
(1] 7] (ch {d)
Aa>b>c>d
B.e>d>a>b

Ce>d>b>a

D.d >c>a>b

Answer: C


https://dl.doubtnut.com/l/_j4VxYmvJlq0N
https://dl.doubtnut.com/l/_axaeqeOGqjXK

o Watch Video Solution

.

ol cCi

b CH, - NI, .

5. LAl Product of

the reaction is:

{i“]



https://dl.doubtnut.com/l/_axaeqeOGqjXK
https://dl.doubtnut.com/l/_muuq0kiiA8LV

Answer: A

° Watch Video Solution

6. Which - keto acid shown will not undergo decarboxylation ?

|l
C.Ph—-C —-CHy — COH
0]

'
D.CH; — C — CHy — COsH

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_muuq0kiiA8LV
https://dl.doubtnut.com/l/_Q4sMkylZMoTO

7. Choose the response that matches the correct functional group

classification with the following group of structural formulas.

li] Ii!
{a) Anhvdride Lactam Lacrone
(b} Lactam [mide Lacione
() Imide Lactone Anhvdride
(dy Imide Lactam Lactone

° Watch Video Solution

OH () B L3-eq) . (P)
(2) H',H 0  (65% yieid)

8.

(P) of the reaction is :

813

()

, Product


https://dl.doubtnut.com/l/_iVftjYxyazGW
https://dl.doubtnut.com/l/_pGdClqpnowTI

Et

B.
Ei
Ok
Et
Et
C.
Et
{
Er
D.
Answer: B

° Watch Video Solution

O

avd

OH > (X)) + HL0

caend, | l,S00,
Ot 599 1%, yield
0. (Lactic acid)

Product (X) of the reaction is :


https://dl.doubtnut.com/l/_pGdClqpnowTI
https://dl.doubtnut.com/l/_YlhWZ1fEKb8K

il

. oM
\]/ﬁ\n/\

c. OH
>/K/f
o

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YlhWZ1fEKb8K

Mel OMe
E10. 0 CO4E H,O®

10. Product

(A) of the reaction is :

0
)

CO,Et

O


https://dl.doubtnut.com/l/_0VG8g5Tic1Db

CO,H

Answer: B

o Watch Video Solution

11. Which of the following acid on heating gives geometrical isomers as a
product ?
OH

|
A.CH3 — CH - COH

CO.H

Cl

C.CHs — |CH— CHy, — COoH

OH

B.

D. All of these

Answer: D

(N |


https://dl.doubtnut.com/l/_0VG8g5Tic1Db
https://dl.doubtnut.com/l/_aBbDOZqCxvmT

[ W Watch Video Solution ]

12. , Product

(C) of the reaction is :

O
ﬁ-NH-Me

=0


https://dl.doubtnut.com/l/_aBbDOZqCxvmT
https://dl.doubtnut.com/l/_MYN9ySlAkTTn

Answer: B

o Watch Video Solution

13. , Product
(Q)is:
NH
M
A.
\


https://dl.doubtnut.com/l/_MYN9ySlAkTTn
https://dl.doubtnut.com/l/_sXc6qIpawenT

1
N
OH
C.
QL.
N H;'.
D.
Answer: B

o Watch Video Solution

14. l
(C)is :

0
|

-0,

A

HCl B aq KOH

ACHs —-CHy, —-C — H

, Product


https://dl.doubtnut.com/l/_sXc6qIpawenT
https://dl.doubtnut.com/l/_VOqE5HIyeYtP

OH

5

5 OH
H
C.
cHx/ﬂ\cH,
D.
Answer: A

° Watch Video Solution

K ,C0,
0 «R-CH, - NH, ———— [A)
= . ™ miw)

15.

In above reaction identify major product (A) of the reaction:


https://dl.doubtnut.com/l/_VOqE5HIyeYtP
https://dl.doubtnut.com/l/_WKajhRTPFcc8

N-CH, -R

~ 1

H
N-CH,-R

~D

MH - R

H

I
e

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WKajhRTPFcc8

16. A chiral compound X with molecular formula C4HgO3 liberates CO,
with aq. NaHCOs . X on reduction with Li AlH, gives achiral product .

The structure of X is

A.CH3;CH, C HCOOH

|
OH

B.CH;C HCOOH

|
Me

C. CH:),CHC;OOH

CH>-OH

D.CH3; C HCH,COOH

!
OH

Answer: C

o Watch Video Solution

o

|
17.CH3 —C -0 —-CH, —CHs + H—- 0" — (0 =0"%)
One of the product of the reaction is :

o

|
ACH;—-C-0-H


https://dl.doubtnut.com/l/_9r2TjIe3M8Ng
https://dl.doubtnut.com/l/_TPbRU7IK143y

B.CH; — CHy, — O — H

0

I
C.CHy; — C — O-

D.CH; — CH, — O-

Answer: C

o Watch Video Solution

Ioa 150H,4

Kk Hy0" [a= LiAlH H /a4
ct:‘culorlz (‘]0c1{1(:H_‘ —_— A 2 (X)
: | |

18. ’ ¢ Product

(X)is:


https://dl.doubtnut.com/l/_TPbRU7IK143y
https://dl.doubtnut.com/l/_1cHRunoLIStX

.

Answer: B

o Watch Video Solution

19. Identify  final product In the following  reaction

2CHs — |C’I—I — COOH i) product

OH


https://dl.doubtnut.com/l/_1cHRunoLIStX
https://dl.doubtnut.com/l/_Y1HEEZrIa5WY

uj:'ﬂ CH,

B.CHy, = CHCO:H

A

o

|
C.CH; — CCO:H

D.CH3CH,OH

Answer: A

o Watch Video Solution

20. Select the final product from this sequence of reactions

. NaOEFEt CHgI NaOEt CH?,CHQCHQB’I'
A cetoacetic ester 5 5 5 S

7

0 CH,
A HsC — g’ — ||C — COOC,Hj
CI%HQCHQCH;),
B. H3C — |C — CH,COOC,Hj

|
CH>CH>CH3


https://dl.doubtnut.com/l/_Y1HEEZrIa5WY
https://dl.doubtnut.com/l/_5ais4o2gEqfR

H
|

C.H3C — C — CH,COOC,Hj
CHzC|HzCH3
CH,
D.CH3;CO — C|)’ — CH,COOC5Hj
ot
Answer: A

° Watch Video Solution

B CO,CH, - CHy

0 H.uh.;::m.. v (A)
” CO,Er
Product (A) will be:

CO,H


https://dl.doubtnut.com/l/_5ais4o2gEqfR
https://dl.doubtnut.com/l/_J2BncTVs4YW8

Answer: B

o Watch Video Solution

i) Na
22. CH2(002M6)2 + ? (—()————> CH(CO2M6)3
it1) AcOH

Which of the following reactants will complete the above reaction ?


https://dl.doubtnut.com/l/_J2BncTVs4YW8
https://dl.doubtnut.com/l/_c151mZzhXVBH

A CHQ(CO2M6)2
B. (002M6)2
C.Cl — CO,Me

D. COCl,

Answer: C

o Watch Video Solution

23. Arrange the following in order of increasing reactivity (least to most)

towards nucleophile

'ﬁl 0 0
I il
CH,C OCHCH, CH.CCl CH,C NHCH,
i 2 3
Al<2<3
B.3<1<2
Cl<3<2

D.2<1<3


https://dl.doubtnut.com/l/_c151mZzhXVBH
https://dl.doubtnut.com/l/_mLhdTyai67C8

Answer: B

° Watch Video Solution

24. Choose the best sequence of reactions for transformation given.
Semicolons indicate separate reaction steps to be used in the order

shown

E{1C4QG01{:]|1 L ii,r_-@—(]_l—-uu-—cu,

A. H30+, SOClz, CHsNH,

B.HO™ /H20, PBrs, Mg, CO2, H3O~, SoCly, CHsN H»
C. LiAlH,, H,O, HBr, Mg, COs, H;O" , SOCly, CHy N H

D. None of these would yield the desired product.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mLhdTyai67C8
https://dl.doubtnut.com/l/_AgWdGJQunriK
https://dl.doubtnut.com/l/_iqENUId3HINL

25. A key step in the hydrolysis of acetamide in aqueous acid proceeds by

nycleophilic addition of :

(0]
||
A. ]:I?,OjL to CHsCNH,

+0H

|
B. HOtoCHs C NH,

+0H

|
C..Z:IgojL to C.Hg C NH2

+0H

[
D.HO to CH3 C NHQ

Answer: B

o Watch Video Solution

26. Which reaction is not possible for acetic anhydride ?

0 0
| [

CH;C | O + 2HN(CHs), — CH;CN(CHs), + CH;CO,

2


https://dl.doubtnut.com/l/_iqENUId3HINL
https://dl.doubtnut.com/l/_0RV6EpNmCgF4

7)

CH;C

@)

@)

|
CH;C

(

\

(]
¢ | cHC

\

(

\

Answer: D

2

2

2

)

|
O + CH3CH20H — CHgCOCHQCHg + CHgCOQH

o

AlCl, ||
O + CsHy — CH3CCgHs + CH3CO2H

o

]
O + NaCl — CH;CCl + CH;CO, Na*

° Watch Video Solution

27. All but one of the following compounds react with aniline to give

acetanilide. Which of does not?

1
th — Q—HH(‘.{:H,

Anihne

Acetanilide


https://dl.doubtnut.com/l/_0RV6EpNmCgF4
https://dl.doubtnut.com/l/_t18VBGAgaSLB

o

I
A.CH,C — ClI

o 0
ch)'l\o)\-::n,

)

I
C.CH,C — H

0
0CCH,
D.

Answer: C

° Watch Video Solution

28. Which of the following best describes the nucleophilic addition step

in the acid catalyzed hydrolysis of acentonitrile (CH3CN) ?


https://dl.doubtnut.com/l/_t18VBGAgaSLB
https://dl.doubtnut.com/l/_nfT7HIvDw244

Answer: D

° Watch Video Solution

29. The major product expected, when phthalamide is treated with NaOH,

is :

{H
Ma
A.
A0t
B.
“ONa
\]r,{mn


https://dl.doubtnut.com/l/_nfT7HIvDw244
https://dl.doubtnut.com/l/_61TY82ttGT7y

Answer: C

° Watch Video Solution

30. Which of the following acid remains unaffected on heating ?

A. malonic acid

B. maleic acid

C. Fumaric acid

D. Succinic acid

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_61TY82ttGT7y
https://dl.doubtnut.com/l/_iecmPdixM8J8

31, Br "/\E\"’{\H, + CH 5 (CO K1), ReO% eyelic product

At which value of n the formation of six membered ring takes place ?

A.n=2

B.n=3

D. n=6

Answer: B

° Watch Video Solution

0
JJ\H :qn"Ln!_ll-I'l.l:i.ﬁi:_l
:: r’ 1,0
0
32.

the reaction is :

Product of


https://dl.doubtnut.com/l/_mg5ak7XzOZFz
https://dl.doubtnut.com/l/_UHE8ilxSBetl

CCHIGH
CH,OH
NH,

B

LoD

OH
o>
D. O

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_UHE8ilxSBetl

CO,H
co,H 1

—— e =
-

:—l.-'...'_:

CO,H

33.

Product of the reaction is :
A. cis-anhydride
B. trans-anhydride
C.both (a) and (b)

D. mono basic acid

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_L2qKJa8011bG

COyH
{1} ExOH, 1101
(i emgin
(Hi H' FA
34.

Product (A) of the reaction is:

]|

c m@ykjo;m
1o gy

. : €O, Bt

A

8]
|
€ -CHjy
O
D.
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WqbadL6ZFhsc
https://dl.doubtnut.com/l/_yTXMAzC9FOQ1

35.

CH>—-O—-COR
|
C H — O — COR; + 3NaOH — (A) + salt of fatty acid(soap)

|
CH,—0—CORy

Product (A) of the reaction is:

A. Ethylene glycol
B. Glycerol
C. Glyceryltrinitrate (explosive)

D. cumene hydrogen peroxide

Answer: B

o Watch Video Solution

OH ~
36.CH3 — |C’H — OAc —— Product of the reaction is:

Et
(d)

Et

|
A.CH3; - CH - OH


https://dl.doubtnut.com/l/_yTXMAzC9FOQ1
https://dl.doubtnut.com/l/_1eyxENMb4LVv

B.CH; — CH — OH
|

Et
C.CHs - CH - OH
|

Et
(d) & (1)

D.CHs — |C = CH,

CHs

Answer: A

° Watch Video Solution

Q

() SOl

Ph -CH = CH-C-0 - H—xm5r

A

37.

Product (A) of the reaction is :

1
A Ph - CH = CH -C—CHj - NI-Iﬂ

f

|

Ph - CH = CH c-.\'nﬂ
B.

0

|
CPh—-CH=CH-C-H

» (A)



https://dl.doubtnut.com/l/_1eyxENMb4LVv
https://dl.doubtnut.com/l/_0MhuIOsNFuJ3

P'n—t'.l-l=CIi—N1!4

D.

Answer: B

° Watch Video Solution

O §]
H
Ph-C-Cl + [ — (A)
rl,' { Dokt
N HhJ
(Morphodine)
38. P
Identify the product (A)
I
AFh—r:“ 0 N-H
8 —
B Ph - M (8]
o o
c Ph --f“:-N/_ >
o)


https://dl.doubtnut.com/l/_0MhuIOsNFuJ3
https://dl.doubtnut.com/l/_nS0uKAzHcNg7

Answer: B

° Watch Video Solution

Ohe 8] |

0

39.

Above reaction is an example of :

A. Esterification

B. Saponification

C. Hydrolysis

D. Trans Esterification

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_nS0uKAzHcNg7
https://dl.doubtnut.com/l/_eNO83diaSsmV

40. Which of the following is an intermediate formed in the reaction

shown below ?

o

[
CH; — C — Cl + NH; — Intermediate — product

A.CH; — ]G\B/'Hg
o
5.0H, — 0o
OH
C.Cl — ‘C — Cl
i
o-
D.CHs — lC’ — Cl
N
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YgSbT8aVHB00

0

2\ |
SalH 0
R Yﬂ IDYH _m;rl = Product
0 O {several hoars

41. Product is

obtained in the above reaction is:

A.R — COsNa
I)Tl
. OH  OH

C.both (a) and (b)

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_pLfREv7uPkze

42.The reaction of sodium acetate with acetyl chloride proceeds through
which of the following mechanisms ?

o]
Il

[=]

7 N
A CH;-C-0" + CHy-C-Q ,

[s]
[
CHy-C -0 + CHy-C-0Cl

C. N~
0 o

i
CH;-C- 0~ al
D.

Answer: C

° Watch Video Solution

43. Which is the major product of the following reaction ?

o

| H>S
CHs — C — Cl — product


https://dl.doubtnut.com/l/_sIv2NQDd3wf5
https://dl.doubtnut.com/l/_FLITEGgE9OXx

OH
|
A.CH; — c|7 —Cl

SH
o

B.CH3—|C|'—SH

S
C.CH3—|C|'—C'I

o o
0.CHy — C — §— C - CH,

Answer: B

o Watch Video Solution

44, Which is the major product of the following reaction ?

O +CH, - r.,;|||1..fi-|- product


https://dl.doubtnut.com/l/_FLITEGgE9OXx
https://dl.doubtnut.com/l/_rtyKq2nWVdBZ

N - CHy

- CH,

(0] o
I I
C.HO - C — CH, — CH, — C — NH — CH;
o O

I I
D.CH; — NH — C — CH, — CH, — C — NH — CH;

Answer: C

° Watch Video Solution

45. Ethanoic acid + 3 methyl-1-butanol <———= (A), Compound (A) is :

tracesHy SOy
j\ l:!

A.


https://dl.doubtnut.com/l/_rtyKq2nWVdBZ
https://dl.doubtnut.com/l/_cGwSfedkvCHS

8 /?Ko/\\/l\\
C. ,j)I\OM

0O
AN ™

Answer: B

° Watch Video Solution

O
¢
™~ LIAIH PCC HO™
@: /p — B3, (A4) A4 (B)——=—(C)— (D)
|

O

@{:H: - 0OH
CO,

46.

A.


https://dl.doubtnut.com/l/_cGwSfedkvCHS
https://dl.doubtnut.com/l/_OlKDVuxy2TpN

Answer: A

° Watch Video Solution

47. Which of the following compounds will undergo decarboxylation on

heating ?
OH OpH
CD'JCHa é/m]f‘l
0
1 2 3 4

A.2 and 3


https://dl.doubtnut.com/l/_OlKDVuxy2TpN
https://dl.doubtnut.com/l/_WOnGzezNgx5a

B.3and 4

C.3 only

D.1and 4

Answer: C

o Watch Video Solution

48. Which one of the following is not an intermediate in the generally

accepted mechanism for the reaction shown below ?

[0) (0]
1 sor 1l
CF,COH + CH, C HCH, 2% CF,CO C HCH, + H,0

| \
OH CHs

“oH

T
ACF; C — OH

1b27
L g
B.CF; C — OH — OCH(CHs),

\
:QH
:OH
\ .
C.OF; C — OCH(CHy),

IOH2


https://dl.doubtnut.com/l/_WOnGzezNgx5a
https://dl.doubtnut.com/l/_XpHWiYPwLgHt

:OH
\ .
D.CF; C — OCH(CH,),

|
:OH>

Answer: B

° Watch Video Solution

RO co,H
49,
Ais:
RO CO,R
A.
RO CO,Et
B.
Et() CO, Et
C.
(0]

3 &q, EvDE
" dry HOI
[fmajor p (§

, Product


https://dl.doubtnut.com/l/_XpHWiYPwLgHt
https://dl.doubtnut.com/l/_kGS8HQjwl7jB

Answer: B

° Watch Video Solution

50. Identify the compound C in the following sequence:

HCl,H,0 1.LiAlH, PC
(CH;),CHCH,C = N ——— compound A ——— compound B —— (
2H20 CH2Cl2

O
A (CH3)20H50H3
O
B. (CH3)2CHCH230H
O
. (C’Hg)zc’HCHgg'H
O

I
D. (CH;s),CHCCH,OH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kGS8HQjwl7jB
https://dl.doubtnut.com/l/_0K3BJM4StAw3

51. What is the final product (B) of this sequence ?

CH,


https://dl.doubtnut.com/l/_IRfCiKbWo7BL

Answer: D

° Watch Video Solution

52. Which of the following undergoes decarboxylation most readily on

being heated ?
@T\)LDH
A
”‘-’\u/@\/\/ﬁ\
C ol
D. %

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IRfCiKbWo7BL
https://dl.doubtnut.com/l/_sYidWuyMdU5G

53. What is compound Z ?

0

|
A.CH3CH = ChCOH

B.CH3sCHsCH>CH = NOCH,CHjs

C. CH;CH,CH>CH(OCH,CHjs),
O

|
D.CH3CH;CH;COCH,CHj3;

Answer: D

o Watch Video Solution

iy
CN H;0% /4
oN A)
CM
54. , Product

(A) of the reaction is :


https://dl.doubtnut.com/l/_sYidWuyMdU5G
https://dl.doubtnut.com/l/_MsuwwM06ef7Y
https://dl.doubtnut.com/l/_tFA0CDerH5Dy

C.
0
00>
D. o
Answer: D

° Watch Video Solution

55.CH; — CH = CH — CHy; — COH —Z—> (X)(major), Product (X) is :

A.CHs —CH = CH — CH;


https://dl.doubtnut.com/l/_tFA0CDerH5Dy
https://dl.doubtnut.com/l/_I205DLPDql0U

B.CH, — C = CH,
|
CHs

C.CH; — CHy; — CH = CH,

D.CHs; — CH = CH>

Answer: C

o Watch Video Solution

o o

| I
56. H—O—C—(C’Hz)n—C—O—HT At what value of (n)

given compound will not evolve CO, gas ?
A.n=5
B.n=4
C.n=2

D. n=1

Answer: C



https://dl.doubtnut.com/l/_I205DLPDql0U
https://dl.doubtnut.com/l/_gZIHXp16JLxR

| ' Vvvatlch Video solution

CO.H

|
57.C'H, , If (n=4) then di-carboxylic acid would be known as :

|
CO:H
n

A. malonic acid
B. Succinic acid
C. Adipic acid

D. Oxalic acid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gZIHXp16JLxR
https://dl.doubtnut.com/l/_TJl9z7ApauSK

58.

Product (A) of the above reaction is:

Ho
CH, COJH
A O Co;H
o]
CO.H
B. OH CO4H

}[0:%— CO,H
Ho co,H


https://dl.doubtnut.com/l/_sCoFvRNbKdIo

o

I
HO C—H
HO "

Answer: C

o Watch Video Solution

.-.-;\1 @

™
(A
A, o 0
‘H""h 9 CO,H { il
e + HO—C—C—0—H
CO.H
cis-cycio hexane
1.2-dicarboxylic acwd
59.
Identify (A).

8 &


https://dl.doubtnut.com/l/_sCoFvRNbKdIo
https://dl.doubtnut.com/l/_aM2C5QOYSU15

0
R

Answer: B

° Watch Video Solution

CO,H_  CO,H

i CH,

60. How many

product will be formed when above compound undergo de-carboxylation

?


https://dl.doubtnut.com/l/_aM2C5QOYSU15
https://dl.doubtnut.com/l/_pYJxPb5hCM9N

A.O

B.1

C.2

D.3

Answer: B

o Watch Video Solution

H H

CO4H
61.

Product of the reaction is :


https://dl.doubtnut.com/l/_pYJxPb5hCM9N
https://dl.doubtnut.com/l/_xUa9DDPi1KiJ

C.both (a) and (b)

D. none of these

Answer: C

o Watch Video Solution

62. Products obtained in the given reactions are shown below

€O,H

The number of possible products for x and y are :

A1)


https://dl.doubtnut.com/l/_xUa9DDPi1KiJ
https://dl.doubtnut.com/l/_pq1I9We9bR71

C. 2]

D. 2,2

Answer: C

° Watch Video Solution

CH2 - Br |
@ —> (A)
(2) HO™ /H,0 (81%)

Be ‘
63. (Benzyl bromide)

(A) of the above reaction is :
A.Ph — NH,
B.Ph — CHy — NHy
C.Ph—-—CHy — NH — CO:H

D.Ph — CH, — NH — CHO

Product


https://dl.doubtnut.com/l/_pq1I9We9bR71
https://dl.doubtnut.com/l/_oqf9xgHXRJ2e

Answer: B

° Watch Video Solution

64. Which of the following pair is C'y epimer ?

A. D-Glucose, D-Maltose

B. D-Glucose, D-Mannose

C. D-Allose D-Ribose

D. D-Glucose, D-Arabinose

Answer: B

° Watch Video Solution

65. Total number of enol possible for the compound formed during given

reaction will be ( including stereocisomer ):

o

|
CH3MgBT + CH30H2 —C-Cl—


https://dl.doubtnut.com/l/_oqf9xgHXRJ2e
https://dl.doubtnut.com/l/_lWL3aezznAXT
https://dl.doubtnut.com/l/_GbgoEsa64vA6

A2

B.3

C.4

D.5

Answer: B

o Watch Video Solution

66. Which of the product of the following reaction?

— -

0 .



https://dl.doubtnut.com/l/_GbgoEsa64vA6
https://dl.doubtnut.com/l/_28HkrGDETRE7

0
“O)l\/y\m |
0
B. L/O
o] 0
C ' [DM/\()I I

8]
8] O

HO
D.

Answer: C

o Watch Video Solution

OH

CH'{ _ i) KB A

-2
COOI [iJH™ [ ¥

67.

Hence the product(Y) in the above sequence of reactions is :

O
OFH

CH,


https://dl.doubtnut.com/l/_28HkrGDETRE7
https://dl.doubtnut.com/l/_nxZck1uHb7No

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nxZck1uHb7No

0 0
| | INE
N, C—NH,

o0 By,
and EEE——

Irvt 1 armvcsdecni bint
Ahagial wulh

68. o 15 Product

are:

NH, NI,
¢
A G X
NH, Nit,
q lndq
B. L !
NH, N,
l‘.}q B q
C. I,
NH, N,
D. z

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xOhYdMJUry0Z

69.
Base
CH;CH,CH(OH)CH(CHs), + CH;COCl — CH3CH,CH(OCOCH;
in the above reaction, if the reactant alcohol is pure R-isomers, the
product would
A. have configuration inverted at the chiral atom
B. be a racemic mixture

C. have the same configuration at the chiral atom

D. be optically inactive

Answer: C

o Watch Video Solution

70. The order of Sy1 reactivity in aqueous acetic acid solution for the

compounds

o

[
H;C - C —-CH, - Cl H;C — CH, — CH, — Cl (H3C),C — Ci
(1) (2) (3)


https://dl.doubtnut.com/l/_hvu4ouUZfQhf
https://dl.doubtnut.com/l/_thc6CobYcOin

Al>2>3

B.1>3>2

C3>2>1

D.3>1>2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_thc6CobYcOin

1. Match the column (1) and (II) (Matrix)

Column (1) Column (I1)

(n) P et e T A ) Diastereomers
Ph
CHy

(b) HO2G === COH — (a) Racemic mixture

Et

COuH ﬁcoll-i

bt
(e) a (r) Meso compound

CH,

- COH
«@ CO.H F (s) €O, gas will evolve

° Watch Video Solution

Level 2 Subjective Problems



https://dl.doubtnut.com/l/_sAskp7iZD7Pn

HOLE CO4H
HO,C €Ot —— (X)mole of CO, T

HOLC Cogll

(v — '/ph
B~ Kedo wcud

1.

(Y) is including stereoisomers. Value of (X+Y) will be

o Watch Video Solution



https://dl.doubtnut.com/l/_v4haLQmyPcFb

